50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

Time: 3 hrs.

10ES32

Note: Answer any FI VE ﬁdl questions, selectmg 0, v
at least TWO full questions from each part.

1 a. Derive the expression for dynamig, resmtance of the diode. Dz ‘termme the dynamic resistance

'''''

of the diode when the diode current is 2mA. # (06 Marks)
b. The input voltage to thevclippér circuit shown bel in Fng 1(b) varies llnearly from

each level.

(08 Marks)

Fig.Q.1(b)’

C.
diode.
2 a
Ico and VBE
b. How.do you find the operatlng pomt
c.

1'shown in Fig.Q.1(c) using silicon
i (06 Marks)

(06 Marks)
of fixed Blas c1rcu1t‘7 (04 Marks)

esign a voltage d1v1de};,), Bias circuit usmg”é silicon transistor with B = 100 when

(10 Marks)
3 a for the cugs‘nt gain, input impedance, voltage gain and output
1 ng hybrid model. (10 Marks)

b. Find r., At ZI, AV and Zo for the a
= 40KQ (use r, model). .

mplifier circuit shown in Fig.Q.3(b) with B = 120 and
(10 Marks)

10f2
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. Write the ac equ1valent model of JFET? Ex‘ lin. |

g@@‘ 9’

10ES32

circuit diagram shown in
(06 Marks)
(06 Marks)

fy and fr for the circuit shown in

1pF Cyo=8pF Cyi= 6pF.

(08 Marks)

Determine the lower cut off frequencies fi; and fi, for.t
Fig.Q.3(b) with Rg = 1KQ. .
What is miller effect? Explain.

Determine the upper cut off frequencies fiy; and fyo @
i

ity

Cee =

1 pair shown in Fig.Q.S(a'y)”,;ftl'fDerive the formulas
‘ (08 Marks)

Calculate Z;, A;, A, and Z, of the Darling
used.

Fig.Q.5(a)

What are the me“'f"ﬁs of feedback? What are d:tfferent types of feedback connections?

(06 Marks)
Derive the expressmn for Ag, Zirand Zos for voltage shunt feedback circuit. (06 Marks)
Explain’ th& classification of power ag;gllﬁers (04 Marks)

Expldin.how the efficiency of class A-amplifiers increases
transformer coupling. ) (08 Marks)
A class B power amplifier is delivering an output *voitage of 10 volts peak to a 8Q load. If
the dc power supply is 30 mlts calculate:

i)  DC power input
ii)  AC power delivered-to the load
iii) Conversion efficiency

iv) Power d1sslibated in the collector.of.cach transistor.

(08 Marks)

?‘l‘ :
Derive the expression for frequency'of @scﬂlatlon of transistor phase shift oscillator. What is
the value of ctirrent gain requiredfor the loop gain to-begreater than unity? (10 Marks)
With a-neat circuit diagram, explmn the working, of the Hartley oscillator. Calculate the

frequewy of oscillation for € =250 PF,L;=1.5 mH; L,=15mHand M=0.5 mH.
; (10 Marks)

: (04 Marks)
erive the express10n f@r Z,Z,, and A, fo ommon source JFET amplifier with fixed bias.

w’ (06 Marks)

For the JFET amplfﬁer shown m,‘émgQ 8(c), the operating point is Vgsq = -2.6V and

Ipg = 8mA ith Ipss = 8mA and Vp#-6V. The value of Yos is given as 20uS determine:
)gm ii) I’ i) z; 1v) calculate z, with and without ry ~ v) calculate A, with and
withoutrg. (10 Marks)

20V

Fig.Q.8(c) o

% ok k % ok
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